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Study skills 4

Affirmative sentences

1 wants
2 is

3 has

4 visited

Negative sentences

1 haven't
2 doesn't
3 didn't

4 weren't
Questions

1 Are

2 Have

3 Did

4 Does



(Other answers are possible.)

2
6
9
2
9
8
2
3
4
5
2
5
8

1
5

Luxembourg 3 sky diving 4 jogging 5 Sebastian
Zoe 7 The Empire State Building 8 The Coliseum
10 Ferrari 11 .. 12 tortoise

more interesting 3 more famous 4 exciting
cheaper 6 more expensive 7 faster
more important 9 old 10 easier

taller than Sophie; shorter than Ben

faster than the lion; slower than the cheetah

easier than question 2; more difficult than question 1
younger than Martin; older than Polly

Internet 3 electronic 4 faster; cheaper
invented 6 World Wide Web 7 web page
website

screen 2 speakers 3 printer 4 keyboard
mouse

Check individual answers.

b

N O N = 1 A

digital camera c¢ electric toothbrush
fridge e stereo f microwave
washing machine h hairdryer
g 2b 3c 4f 6e 7d 8h

True 3 False 4 True 5 False 6 False 7 False
False 9 True 10 True

Is New Zealand as big as Australia?

No, it isn't.

Is Big Ben as tall as the Eiffel Tower?

No, it isn't.

Is a kilo of balloons as heavy as a kilo of onions?
Yes, it is.

Is a kilometre as long as a mile?

No, it isn't.



7 bigger 8 noisier
23 3¢ 848 BB BC

Check individual answers.

- ) N 4=

1 as expensive as Zoe's.

2 nicer 3 sunnier 4 easier 5 hotter

6 friendlier

2 Kathy's book is more interesting than Luke’s.

Luke’s book isn’t as interesting as Kathy'’s.

3 Megan’s score isn't as good as Fiona’s.
Fiona's score is better than Megan'’s.

4 Jenny’s rucksack is bigger than Mike's.
Mike’s rucksack isn’t as big as Jenny's.

2 2h 31 47 8b od 738

3 Object pronoun: him, her, it, us, you, them
Possessive adjective:  his, her, its, our, your, their
Possessive pronoun: yours, his, hers, —, ours,

yours, theirs

Nivojski pouk

1. naloga

2 slower 4 more intelligent
3 smaller, larger 5 hotter, drier

2. naloga

2 James is older than Marcus.
3 Marcus has longer hair than James.
4 James has darker hair than Marcus.

5 James is heavier than Marcus.

3. naloga
2 The Eiffel Tower isn’t as old as Big Ben.

3 Australia isn’t as large as the USA.

6 more expensive



4 A penguin isn’t as fast as a dolphin.

5 Big Ben isn’t as tall as the London Eye.

4. naloga

2 your 4 theirs

3 mine, hers 5 His

5. naloga

2 speakers 4 keyboard 6 mouse
3 printer 5 screen

6. naloga

2 True.

3 False. He hasn’t got a DVD player. / He has got a CD player.
4 False. The weather is sunny.
5 True.

6 False. A lot of tourists visit the island.

7. naloga

2 difficult / more difficult

3 young / younger

4 expensive / more expensive
5 noisy / noisier

6 long / longer

7 fast / faster

8 hot / hotter

8. naloga

2 The Indian Ocean isn’t as large as the Atlantic Ocean.



The Atlantic Ocean is larger than the Indian Ocean.
3 Stonehenge isn’t as old as the Great Pyramid of Cheops.
The Great Pyramid of Cheops is older than Stonehenge.
4 A hippopotamus isn’t as heavy as an elephant.
An elephant is heavier than a hippopotamus.
5 | think rollerblading is / isn’t as dangerous as diving.

| think rollerblading / diving is more dangerous than rollerblading / diving.

9. naloga

2 Steven’s MP3 player is older than Mary’s.

3 Steven’s MP3 player has a larger memory than Mary’s.
4 Mary’s MP3 player is smaller than Steven’s.

5 Steven’s MP3 player is bigger than Mary’s.

11. naloga

1 mine 3 ours, theirs

2 hers 4 mine, his

12. naloga

2 Siberian tiger 5 Bengal tiger
3 Siberian tiger 6 Siberian tiger

4 Bengal tiger

13. naloga
2 fridge 5 screen
3 printer 6 hairdryer

4 stereo



14. naloga

2 faster 5 heavier
3 cheap 6 older

4 as

15. naloga

2 Steven’s MP3 player is more expensive than Mary’s, but it isn’t as expensive
as lan’s.

3 lan’s MP3 player’s memory is larger than Mary’s, but it isn’t as large as
Steven’s.

4 Steven’s MP3 player is smaller than lan’s, but it isn’t as small as Mary’s.

5 lan’s MP3 player has got a longer battery life than Mary’s, but not as long as
Steven’s.



